Writing Equations WE4

Writing Point-Slope Equa‘hons Name
Homework-Academic - Date . Period
I. Complete the following: ' NS
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1. Suppose you own a car that is presem‘ly 40 months old. According to statistics, it Ioség $24O in %
valug(éﬁch mon?h > A dealer’s "blue book” shows its current value is $6400. S
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a. Identify the point from this situation.
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b. Identify the slope. What does it represent in this situation? e
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c. Write the equation of the line in point-slope form. (convert to slope-intercept form)
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d. Identify the y—m?ercepf What does it represent in this situation?
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e. How much was the car worth when it was 20 months old’
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2. Marty r'ece;ved a check for his birthday. H{épends $8 per d;g; After 10 days he has \
120 left. - T = i 3 s
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b. When W|1I he run ou‘r of money’ J -
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Wha? was ‘rhe amoun‘r of the check?
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II. Complete the following.
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3. Find three more pom’rs with integer coordinates that lie on the line through (6, 5) with
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4. What is the equation of the Tine with a slope of —2 that gwough ‘rhe o;lgm? (@ Q)
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III. Write the point—slope form of an equation of the line that passes through the given point and has
the given slope. Convert to slope-intercept form and identify the y-intercept.
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7. (9, 1) slope-—g— Y- In‘rerceme\> 8. ( 2,-4); slope = -5 y-intercept: £Og ! 4
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